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#include <stdio.h>

double bigger (double a, double b); /* 000 o0ooooo =/

int main(void){
double x, y, z;

z=bigger (x, y);
printf("000000%f0 00 \n”, z);

return 0;

double bigger (double a, double b){
double big;

if (a<b){
big = b;
telse{
big = a;

}

return big;
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#include <stdio.h>
#include <stdlib .h>
#include <time.h>
int main(void){
int a[10], bJ

100], max-a, max-b, 1i;
srand ((unsigned int)time (NULL)); /*» 0 0000000000000 =/
for (i=0; i<10; i++) a[i]=rand(); /* 00 all 0000 */
for (i=0; 1<100; i+4) b[i]=rand(); /* 00 bll ODOOO =/
/* ---- 00 al] ODOODOODO ----- */

max_a=a [0];
for (i=1; 1<10; i++){

if (max_a<a[i]) max_a=a[i];
}
/* ---- 00O bl ODODODOO ----- */
max-b=b [0];

for (i=1; i<100; i++){
if (max_b<b[i]) max_b=b[i];

printf(”max a=%d\n” ,max_a); /¥* 00000 =/
printf(”max b=%d\n” ,max_b);

return 0;

obo20000000oobooobooobobobobobooboobooobooboobobobOobDDbDbo
gbooooboobOoboo soooooboooooboobooooooobobbOooobobobobobooboon
gbobooooboooooboooboboobobboooooobobooboboOooooon

goo 3 0boobobboobobobogoood

#include <stdio.h>
#include <stdlib .h>
#include <time.h>

int find_max (int n, int ix[]); /* 00000000 =/
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int main(void)
int a[10], b[100], max-a, max.b, i;
srand ((unsigned int)time (NULL)); /+ 00000000000000 %/

/* 00 all

(); o =/
) /* 00 bll

for (i=0; i<10; i++) ali]
[i] 0 =/

000
for (i=0; i<100; i++) b 000

max-a=find_max (10, a);
max_b=find _max (100,b);

printf(”max a=%d\n” ,max_a); /¥* 00000 =/
printf(”max b=%d\n” ,max_b);

return 0;

int find_max(int n, int ix[]){
int i, max;

/¥ ---- 00 all] 000000 ----- */
max=ix [0];
for (i=1; i<n; i++){

if (max<ix [i]) max=ix[i];

return max;

23.2 ODO00OO0O0DOOOOOOOOOOOOOOd

gbobooooooooboooobooooooobobboobobobo0oOobooOobOobobbobo0 200000
oobooboobobOooobooooobbooooooooooo 40000

0O0o0 4. 0000D00DbO000oooOoboobboooo

#include <stdio.h>
#include <stdlib .h>
#include <time.h>

/¥ ~-——- 00000000 ----- */

void make_data(int nx, int ix[], int ny, int iy []);
int find_max (int n, int ix[]);

void print_results(int a, int b);

/#=========================================================================*/
/* main O O x/
/#=========================================================================*/

int main(void

)
int a[10], b[100], max-a, max-b;




make_data (10, a, 100, b);

max_a=find_max (10, a);
max_b=find_max (100,b);

print_results (max_a, max_b);

return 0;

/* 0000000 =/

/* 00000 =/

/* 00000 x/

}

/#=========================================================================x%/
/* 0Ooooo %/
/#======================soo=sssooosssoo-sssoossssoosssssossssooss=sso=s=s======x/

void make_data(int nx,
int i;

srand ((unsigned int)time (NULL));

/ D000 O0OO0OO0ODO0OO0OO0oDOooooOo =/

for (i=0; i<nx; i++) ix[i]=rand();

for (i=0; i<ny; i++) iy[i]=rand();
}
/*=========================================================================*/
/* oooooooDoao */
/*=======s=======s=======s=======s=====s=s=ss====s=s=s=====ss=ss===ss=s==========x/
int find_max(int n, int ix[]){

int i, max;

/¥ ---- 00 all ODOODOO ----- */

max=ix [0];

for (i=1; i<n; i++){

if (max<ix [i]) max=ix[i];

return max;
}
/¥========ss=============sss=sssss==sss=sssssssssssss=sssssssssssssssssss=ms=s=ss %/
/% 00000 y
/*=s======s=======s======s=s=====s==s=====s=s=====s=ss======sssss===sss=s====s=s====x/

printf(?max a=%d\n” ,a);
printf(?max b=%d\n” ,b);
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#include <stdio.h>
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#include <stdio.h>

void test(void);

// FALEATEE

//
/] A A B '}
//
int main(void){
int i; - — A
printf("fuga at main = %d\n", fuga);
printf ("hoge at main = Y%d\n", hoge);
test(); 5 by
| TOvINEEOEH SE KR &
for(i=1; i<3; i++){ | -7/7HESD= R 2 ]
int bar=444; 4 — e RS ir
printf ("bar at for loop = %d\n", bar); /E S é[ S S
- S
} y 28 = .
o -1 2
™
return O;; S
} ‘
Yy -
// - |
// test A—H—EHMEH N
// T O
void test(void){ - k‘j =R
int £00=333; <~ | PANEM | RiE
A NS
printf("foo at test = %d\n", foo); o 9
printf("foo at test = %d\n", hoge); L
y
}
A J
04 0000000 (DOODO)
4.2 0O0O0O0O
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gcc -1m -o fugafuga hogehoge.c
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#include <stdio.h>

void swap(int i, int j); /* 00000000 =/

/*=s==============s=======s====================s=s==s=====s=s==s=====s=s========x/
/* 000000 0ad */
/*=====================================================================*/

int main(void){
int a=2, b=3;

printf (?a=%d  b=%d\n”, a, b);
swap(a, b);
printf (”a=%d b=%d\n” , a, b);

return 0;

}
/*=====================================================================%/
/* 000 swapl O x/
/#*=====================================================================*/

void swap(int i, int j){
int temp;

temp = i;

i=j;
j=temp;

52 00000000000 (p.216)
goooobboooooo

(00 3] 0006000 i,jO000000000O0O0OOODOO

gob 6:0000b0bbo0boooobbooood

#include <stdio.h>

void swap(int i, int *j); /¥ 00000000 %/

/*=====================================================================*/
/* 00000000 */
/*=====================================================================*/
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22
23
24
25
26
27
28
29

int main(void){
int a=2, b=3;

printf (?a=%d  b=A%d\n”, a, b);
swap(&a, &b);
printf (”a=%d b=%d\n” , a, b);

return 0;

}
/*=====================================================================%/
/+* 000 swapO O */
/#=====================================================================#/

void swap(int i, int =%j){
int temp;

temp = *1i;
*1=x%] ;
* j=temp;

}
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void keisan(double theta, double *sl1, double *s2);
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for(i=0; i<ndata; i++){

alil=rand();
}

ooooooooooobboboooobooobooboooooobooboOooobooobooooooobooOoon
000000000000000000000000 rand() 000000000 000000000
gboboooOooooooooobooobbbooboobooooobooooooboooboooobooooon
goboooooobobooobooobooobOooboooboooooooobOoooOobOoboOoonoo
000000000 time()OO0DO0O0DO0O0OOUOOOUODOOOOODOOOOOOsrand) O0O0O0O (OO
0000)00o0000o00U0000000000000D0O0O0O0000O00O0DO0DU0oDOoUoOoOO

srand ((unsigned int)time(NULL));

000010000000 +timed 000000 OOODOOOODODO (unsigned int) 0O00D0OO0OODOO
OOo000000ooO000oDooO0o00dboOOtime) D00O0O0OOOODODODOOODODODO
goobbooboobooobobboooooobooNnLbbbooobooooon

O0D0O000000000randO 0 srandO0time() OO0 O0OD0OO0OOO000O0DOOOODOODOODO
oooOoODOOo0DOO0000O00oooooOoDOoOO0O0C0D00D00DODO00D0rand() O srand()
00 stdlib.hOtime(O 00 time. h OO O MO OOOO0OO0O alil 0 1024000000000000
goboooooooo

#include <stdlib.h>
#include <time.h>

int main(void){
int al[1024], i;

srand ((unsigned int)time(NULL));

for(i=0; i<1024; i++){
alil=randQ;

}

return O;

5002%-10000000
0000 seed(0)0000D0O00O
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